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MERT=, INLC. jon

Phone (405) 762-5646 / Telex 74-8563 / 1701 North Waverly / P. 0. Box 150 / PONCA CITY, OKLAHOMA 74602

ORIGINAL
april 15, 1985 l-:L—Z"N, ,@—- HZ‘S

National Highway Traffic Safety Administratio
400 Seventh Street S.W.
Washington, DC 20590

Attention: Mr., Burgett, VIN Coordinator

Reference: Mertz, Inc., Correspondence Dated March 28, 1985 - Verification
of 10 Vehicle Serial Numbers

Dear Sir:
Mertz Inc., Ponca City, Oklahoma will start immediately producing an
additional 10, 8 x 8 driven geophysical source carriers, Again these units

will be considered as on/off highway vehicles.

As required by MVSS-115-s-6, the following represents the 17 digit
identification calculations:

1 -1 Unique Identifier (S.A.E.)

2 -M Unique Identifier (S.A.E.)

3-9 500 or Less Vehicles Per Year (S.A.E.)
4 - B Mertz Model M26/619

5-8 Chassis 8 x 8

6 - 3 Engine Type GMC Diesel gvo2T

7- A Air Brake System

8 - 8 GVWR - 64,000 Lbs.

9 - As Per Calculation Check Digit

10 - F Model Year 1985

il - A Place of MFG. Ponca City, Oklahoma U.S.A.
12 - 1 Unique Identifier (S.A.E.)

13 - 9 Unique Identifier (S.A.E.)}

14 - 5 Unique Identifier (S.A.E.)

15 - 0 Production Process (Mertz)

i6 - 0 Production Process (Mertz)

17 - 0 & Up Production Process {Mertz)

Please find attached information denoting vehicle identification calculations.
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The ten additional units will have the following identification numbers with

appropriate digit:
1M9BS3A82FA195011
1M9B883A84FA195012
1M9B83A86FAL195013
1M9B83A88FA195014
1M9B83A8XFA195015
1M9R83A81FA195016
1M9B83A83FAL95017
1M9B83A85FAL95018
1M9B83A87FA195019
1M9B83A83FAL95020

Thank you for your assistance,

Carl Jackson

¢J/ smb
Enclosure

cc: Marvin Bays
Jim Carothers
Bill Council
Mark Ramsey
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CHECK DIGIT CALCULATIONS

8+ 28 + 54 + 10+ 32+ 9+ 2+

8+ 28+ 54 + 10+ 32+ 9+ 2+

378 - 11 = 34,36 = Digit 4

8
8
4

8
8
4

8
8
4

3
3
3

3
3
3

A
1
2

Digit 2
3 A
3 1
3 2

A
1
2

10
80 +

10
80 +

8
8
10

f=]

o

0

54 +

54 +

F
6
)

cc o0 =

w o = P

A
1
8

R R

1
1
7

9
9
6

+ 54 + 25 +

9 5
9 5
6 5
+ 54 + 25 +
9 5
92 5
6 5

5
5
5

o
0
4

w W =

[

1
1
3

NN e

3
3
2

376

28+ 54 + 10+ 32+ 94 2+ 80+ 0+ 54+ 8+ 7+ 54+ 25+ 0+ 3+ 6 = 380

VIN 1 M 9 B
VALUE 1 4 9 2
FACTOR 8 7 6 5
TOTAL
DIVIDE BY 11 376 - 11 = 34.18
VIN 1M9B83a82FAl195011
(12)
VIN 1 M 9 B
VALUE 1 4 9 2
FACTOR 8 7 6 5
TO TAL
DIVIDE BY 11
VIN 1M9B83A84FA195012
(13)
VIN 1 M 9 B
VALUE 1 4 9 2
FACTOR 8 7 6 5
TOTAL 8 +
DIVIDE BY 11 380 - 11 =

34.54
VIN 1M9B83A86FA195013

Digit 6
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VIN 1 M 9 B 8 3 A 8 - F A 1 9 5 0 1 4
VALUE 1 4 9 2 8 3 1 8 - 1 9 5 0 1 4
FACTOR 8 7 6 5 4 3 2 10 0 9 8 7 6 5 4 3 2
TOTAL 8§+ 28+ 54 + 10+ 32+ 2+ 2+ 80+ 0+ 5S4 + 8+ 7+ 54+ 25+ 0+ 3+ 8 =382
DIVIDE BY 11 382 - 11 = 34,72 = Digit 8
VIN 1M9B83A88FAL195014
{15)
VIN 1 M 9 B 8 3 A 8 - F A 1 2 5 0 1 5
VALUE 1 4 9 2 8 3 1 8 - 6 1 1 9 5 o 1 5
FACTOR 8 7 6 5 4 3 2 10 0 ) 8 7 6 5 4 3 2
TOTAL 84+ 28+ 54 + 10+ 32+ 9+ 2+ 80 + 0 + 54 + 8+ 7+ 54+ 25+ 0+ 3+ 10 = 384
DIVIDE BY 11 384 - 11 = 34,90 = Digit X
VIN 1MIRB83A8XFA195015
(16)
VIN 1 M 9 B 8 3 A 8 - F A 1 9 5 0 1 6
VALUE 1 4 9 2 8 3 1 8 - 6 1 1 9 5 0 1 6
FACTOR 8 7 6 5 4 3 2 10 0 9 8 7 6 5 4 3 2
TOTAL 8+ 28+ 54 + 10+ 32+ 9+ 2+ 80+ 0+ 54+ 8+ 7+ 54+ 25+ 0+ 3+ 12 = 386

DIVIDE BY 11 386 - 11 = 35.09 = Digit 1
VIN 1M9B83A81FA195016




(17)
VIN 1 M 9 B 8 3 A 8 - F A 1 9 5 0 i 7
VALUE 1 4 9 2 8 3 1 8 - 1 1 9 5 0 1 7
FACTOR 8 7 6 5 4 3 2 10 0 9 8 7 6 5 4 3 2
TOTAL 8+ 28+ 54+ 10+ 32+ 9+ 2+ 80+ 0+ 54 + 8+ 7+ 54 + 25+ 0+ 3 + 14 = 388
DIVIDE BY 11 388 — 11 = 35.27 = Digit 3
VIN 1M9B83A83FA195017
(18)
VIN 1 M 9 B 8 3 A 8 - F A 1 9 5 0 1 8
VALUE 1l 4 9 2 8 3 1 8 - 6 1 1 9 5 0 1 8
FACTOR 8 7 6 5 4 3 2 10 0 9 8 7 6 5 4 3 2
TOTAL 8 + 28+54+10+32+9+2+80+0+54+8+7+54+25+0+3+16=39D
DIVIDE BY 11 390 - 11 = 35.45 = Digit 5
VIN 1M9B83A85FA195018
(19)
VIN 1 M 9 B 8 3 A 8 - F A 1 9 5 0 1 9
VALUE 1 4 92 2 8 3 1 8 - 6 1 1 9 5 0 1 9
FACTOR 8 7 6 5 4 3 2 10 0 9 8 7 6 5 4 3 2
TOTAL 8 + 28+54+10+32+9+2+80+D+54+8+7+54+25+0+3+18=392

DIVIDE BY 11 392 - 11 = 35,63 = Digit 7
VIN 1M9B83A87FA195019




(20)
VIN 1 M 9 B 8 3 A
VALUE 1 4 9 2 8 31

FACTOR 8 7 6 5 4 3 2

TOTAL 8 +

DIVIDE BY 11 377 — 11 = 34,27 = Digit 3
VIN 1M2B83A83FA195020
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